PGF 5005 - Mecanica Classica

Prof. Iberé L. Caldas

Respostas - Segunda Lista de Exercicios

1.
(b)
91(t) =1 + (]. - Zﬁl - 352)t,
Ii(t) = A1
a92(t) = Q2 + (1 - 361 + 2ﬂ2)ta
I (t) = fa.
2.
(a)
I =F — _amIF, cos(meoy — ngs) + O(a?),
mwip — nNwa
F:
1 = é1 + — 2 sin(mé1 — ng) + O(a?),
mwip — nNwa
I, =F + M cos(mey — nos) + O(az),
mwip — nwa
F
Os = do + — 1 sin(mey — ng) + O(Q2).
mwiy — 2
(b)
ho(Fy,Fo) = Fy + Fy — Ff + Fy — 31 Fy
(d)

141 21—2F1—3F2,

(e) Corregao:

V2:1+2F2—3F1

_ 1 [T O0H
W] = Wi, Wy = Wsy.
()
Fi(t) = Fi(t =0), #1(t) = $1(0) + v1t,
Fg(t) = Fg(t = 5 ¢2(t) ¢2(0) + Z/Qt.
(8)
Il = Fl(()) + % COS[gf)O — (TU/Q — myl)],
01 = ¢1(0) + % sin[gg — (nve —muy)],
I = F»(0) — % cos[pg — (nve —mui)],
02 = $2(0) + % sin[pg — (nve —muvy)].

po = mep1(0) — ng2(0)
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(a) w=1
(c)I=1/2
(d) A, =4va
(e) Ay =4vb
(g) 4V/a+4vb 21
5. .
(@) J() =5, o) =a+ ot
(b) wo = 38£2
(c) B, = 2.
6.
(d) I ==+ QEBT(l — cosf)
3

_€Br
(e) 0 = 3
7.
(a)

0=2¢—3t, J=2I

(b)






